REVNERSHESEEDNGEE($MN2£E11A8)

&I T D UHE TETD =
g = (t 5 =
i 11 A 2o = FREE]
Ak 778.89 36,902.79 5 C A (mg/m3) — BE — —
B 119.89 26,364.03 (dB) — —
RIS AFV5%R 3455 2,012.46 B — _
#7<T 0.43 229.83 (dB)
AL 4554 8,597.12
HHE<T 190.48
ESEDEES 3.25 223.64
=PRSS EADH
EE<T 4.38 14737 el %ﬁ# == R
ASRLT, A F— KT R U Faikea<d 307.27 15,702.17 AEH —
gLy 143.16 658.82 EREE —
ANETR 398.01 36,206.39 $E = (ppm)
IFLCA 153.66 6,276.90 TFOEZT AJI\UILTILTER —
BEEED 63.80 1,970.09 AFILAIVATEY AVITR/—)L —
ZNH mItK& FERETF )L —
EEEEIIRS 2,052.83 135,482.09 BAEXFIL AFILATITFILT Y —
A 835.53 44,845.29 —BRIEAFIL FLTo —
IFLCA 5.41 4,730.34 RJAFILTED AFL2 —
— R aT 840.94 49,575.63 T7Er7ILTER FLr —
SET 2,893.77 185,057.72 JOEAVTILTER JOEAEE —
JILRILIFILTFIILTER JILR LB —
A )TFILTILTER JILRIVE R —
HEEE D g1 _ JJLRILINLILFILTER 1(JEERE —
BEEZERY il 72HIK
KT aElE AL e 5%
mRH EEXH£H EEXH£H EEXH£H
EROEE &= &= &= w
, e £ A H £ A H £ A H SHEH — —
M‘E’;*ﬁlﬁ%ﬁ?bf: = =1 =
ERHLEONE :ﬁlﬁwﬁ LEFEAN BT
BREEZE(MS/m) — —
KEBREDRR _ _ _ _ BB AF (me/L) — —
ﬂ“ﬁ%f RHEIK (EK) | ZHK (LK) ;S(mrgj/L) — —
w =k iﬁ",—F7 5&']# = 2 = g PE -l-\ (mg/L) — —
**HyiﬁFﬁ E"yl~ Ziﬁ",,ﬁ\ /EH:IJKE vk IEHj?kaEZiEDQ ﬁ&T“/(mg/L) — —
- 11H5H £/ (mg/L) — —
RE A EE) | 11858 11858 A5 0L (me/D) — —
fERNH/oNn-H 118198 118198 118198 =R (me/L) — —
KEFEE RERDESY RERDESY BERDERY #a7K 88 (mg/L) — —
HREERRUEEBMEER (mg/L) — —
%%&E Aok (mg/L) — —
HIEHR 5% (mg/L) — —
BIESER L2 (mg/L) — —




HTK-ZHKOBERFIERER(FM2FE11A8)
B & 1B 5 |2 e 1H | 20 [ 80 | 40 [ 68 [ 6H ]| 70 | 86 [ OH | 100 |
WmrKEYFR | 7.9 | 7.8 | 7.8 | 7.8 | 1.8 | 7.8 | 7.1 | 1.6 | 1.6 | 1.6
KEAAVEE (H) | — [ 2HEKEYE | 6.6 | 6.7 | 6.6 | 6.6 | 6.7 | 6.7 | 6.6 | 6.6 | 6.6 | 6.7
R EFK TR — [ 70| — [ 737066 — | — | 71.1]6.8
mFAKEY R | 16 | 15 | 15 | 15 | 15 | 15 | 13 | 14 | 15 | 15
BRIEEE (EC) | mS/m| 2HAKEw k| 3761 | 3799 | 3768 | 3711 | 3715 | 3690 | 3729 | 3789 | 3814 | 3812
KRR KEE — [ 113 | — [ 97 [ 78 [ 111 | — [ — [ 112 [ 113
B & 1B 5 |2 e 115 | 126 | 1368 | 145 | 156 | 168 | 176 | 186 | 198 | 206 |
WmrKkEY R | 7.7 | 7.7 | 1.8 | 7.8 | 1.8 | 7.8 | 1.8 | 7.8 | 7.9 | 1.8
KEAAVEE (H) | — [ 2KEYFE | 68 | 68 ] 6.8 | 68| 6.7 ] 67|68 6.8 68| 6.9
BOKETKE | 6.8 | 6.6 | 6.6 | — | — | 7.0 | 6.5 | 6.6 | 6.7 | 6.7
WmFAKEY R | 156 | 15 | 15 | 15 | 15 | 15 | 15 | 15 | 16 | 15
BRIEEE (EC) | mS/m| 2HKEw k| 3811 | 3778 | 3709 | 3693 | 3695 | 3753 | 3761 | 3721 | 3768 | 3763
EROKETKAE 113 | 112 | 113 | — | — | 114 | 110 | 105 | 107 | 105
B & 1B 5 |2 e J1E | 720 | 730 | 740 | 750 | 260 | 276 | 266 | 296 | 300 | 316
WmrKkEvF | 7.8 | 7.8 | 7.8 | 1.8 | 7.8 | 7.8 | 7.8 | 7.9 | 7.9 | 1.9 | —
KEAAVEE (H) | — [ 2EKEVE [ 69| 6.8 ] 6.8 ] 6.7 6869 ] 7.0 7.0 69| 7.0 | —
BOK BTk AE — [ — | — [ 71]66]65][65] — | —[712] =
WmFAKEY R | 15 | 15 | 15 | 15 | 15 | 15 | 15 | 15 | 16 | 16 | —
BESEER (EC) | mS/m|[ ;2HKEw k| 3581 | 3526 | 3590 | 3501 | 3546 | 3596 | 3703 | 3703 | 3735 | 3779 | —
KRBT KIE — [ — | — [io4a [ 103 ] 103 | 108 | — | — [ 103 | —




#3—3H=

WTFKOKERERR GETKEY M)

4 M 2 & K

% E B oKk # R

Eil = A 48 5A8 6A 78 8A 9A 108 118 128 18 2R 3R
" B # (=) g 9H 148 48 2R 6H 3R 18 5H
g X E: B Eh 5l Eh Eh 2y BEh Eh WEKE Y b

E8 m © 20.3 20.4 20.2 20.9 22.3 23.4 21.5 20.6

Vi - °c 18.4 18.9 18.7 19.2 20.6 21.0 20.0 20.4
No. ® & ® B B ® A #H R BEEAE BIE B
1 TILFILIKER mg/L - - - ‘miEhd - - - - BHEShGWI L F2@
2 #oKER mg/L - - - 0. 00055k i - - - - 0. 0005 F£2[[
3 HRIHL mg/L - - - 0. 0003k i - - - - 0.003 F2[F
4 E} mg/L - - - 0. 001K - - - - 0.01 £2[@
5 ANy 0L mg/L - - - 0. 005k - - - - 0.05 F£2[@E
6 [iES mg/L - - - 0. 0012k - - - - 0.01 F£2[[
7 LTy mg/L - - - ‘miEhd - - - - ‘’ishiznC & £2[@
8 RUEIEEZ =)L (PCB) mg/L - - - - - - - - BEEShWI & F£1@
9 rysooTFLY mg/L - - - - - - - - 0.01 £1@
10 Fhk30RTIFLY mg/L - - - - - - - - 0.01 £1[E
1 soporay mg/L — - — - — — - - 0.02 F£1[E
12 migfbk R mg/L - - - - - - - - 0. 002 £1[E
13 1,2-Y9o0nx8y mg/L - - - - - - - - 0.004 £1@
14 1,1->5noIFLy mg/L - - - - - - - - 0.1 £1[@
15 1,2->y00xFLy mg/L - - - - - = - = 0.04 F£1[E
16 1,1,1-ryyBnxia Y mg/L — — - - - - - — 1 #1@
17 1,1,2-+Yo00x8 > mg/L - - - - - = - = 0. 006 F1[E
18 1,3-Yyonraxy mg/L - - - - - - - - 0. 002 £1@
19 FIT L mg/L - - - - - = - = 0. 006 F1[E
20 a2 mg/L - - - - - - - - 0.003 £1@
21 FERUALT mg/L - - - - - - - - 0.02 £1@
22 a2 mg/L - — - — - - - - 0.01 £1[@
23 LY mg/L - - - - - - - - 0.01 F£1[E
24 1,4 %4> mg/L - - - - - - - - 0.05 £1[@
25 snnTFLy mg/L - - - - - - - - 0. 002 F£1[E
26 HEAMERR VEMEBEER mg/L - - - 0. 60 - - - - 10 F2@
21 EN=E mg/L - - - 0. 08K - - - - 0.8 £2[@
28 F5% mg/L - - - 0. 1R - - - - 1 F£2[E
29 KEAAVRE (pH) = 7.9 1.9 1.1 1.5 1.1 7.8 7.6 7.8 - BE
30 BEXRGHE (EC) mS/m 15 15 14 16 16 16 16 15 = HE
31 oty R G mg/L 6.9 6.9 5.5 5.5 6.7 6.6 6.3 6.7 - F£12[@
32 A4+ F 08 pg-TEQ/L - - - - - = - = 1 £1[E
33 FrUDLAFY mg/L - - - - - - - - = F£1[E
34 AUILLAEY mg/L - - - - - - - - = £1[E
35 A9 LLFY mg/L - - - - - — - — = £1[@
36 RITFRVI LTy mg/L - - - - - - - - = £1[E
37 BEgA A mg/L — - — - — — - — - F£1@
38 ERBAA Y mg/L - - - - - — — — = £1[E

2 ® 0 X/ & ;" [ ;" [ [y [ [ " i s S ~ & |XpH ECITEBFHRAIIZL S




#3—3H=

WTFKOKERERLE (BAFHNo. 1 (LFEMAED )

? |3 S M2 F& K B ok A

R = A 48 5A8 6A 78 8A 9A 108 118 128 18 2R 3R
" B # EE 9H 148 48 2R 6H 3R 18 5H
E] f ﬂf 3 B Eh 5l Eh B 2y BEh Eh B0 | (L)

= m © 20.5 26.3 23.6 30.2 32.3 28.3 22.0 16.3

Vi R °c 20.0 21.0 20.0 20.7 21.8 21.5 20.3 20.4
No. ® & ® B B ®E H R BEEAE BIE B
1 TILFILKER mg/L - - - ‘miEhd - - - - BHEShGWI L £2[@
2 #IKER mg/L - - - 0. 00055k i - - - - 0. 0005 F£2[[
3 HREIL mg/L - - - 0. 0003k i - - - - 0.003 F2[F
4 i mg/L - - - 0. 001K - - - - 0.01 F£2[6
5 ANy B L mg/L - - - 0. 005k - - - - 0.05 F£2[@E
6 e mg/L - - - 0. 0012k - - - - 0.01 F£2[[
7 S mg/L - - - ‘miEhd - - - - ‘’ishiznC & £2[@
8 RYBILET z =)L (PCB) mg/L - - - - - - - - BEEShWI & F£1@
9 ryoooTFLY mg/L - - - - - - - - 0.01 F£1[E
10 Fhk30RATIFLY mg/L - - - - - - - - 0.01 £1[E
1 soporay mg/L — - — - — — - - 0.02 F£1[E
12 migfbk R mg/L - - - - - - - - 0. 002 £1[E
13 1,2-v9o0nx8> mg/L - - - - - - - - 0.004 £1@
14 1,1->5npIFLy mg/L - - - - - - - - 0.1 £1[@
15 1,2->yn00xFLy mg/L - - - - - = - = 0.04 F£1[E
16 1,1,1-ryyoRTs Y mg/L - - - - - - - - 1 F£1[8
17 1,1,2-+Yo00x8 > mg/L - - - - - = - = 0. 006 F1[E
18 1,3-ymm7axy mg/L - - - - - - - - 0. 002 F£1[8
19 FIT L mg/L - - - - - = - = 0. 006 F1[E
20 PES2% mg/L - - - - - - - - 0.003 F£1[8
21 FARUALT mg/L - - - - - - - - 0.02 F£1[E
22 a2 mg/L - — - — - - - - 0.01 £1[@
23 LY mg/L - - - - - - - - 0.01 F£1[E
24 1,4-OF %4> mg/L - - - - - - - - 0.05 F£1[8
25 snnTIFLy mg/L - - - - - - - - 0. 002 F£1[E
26 HEAMERR VEMBREER mg/L - - - 3.1 - - - - 10 F2@
21 SoFk mg/L - - - 0. 08K - - - - 0.8 £2[@
28 F5% mg/L - - - 0. 1R - - - - 1 F£2[E
29 KFRAA VIRE (pH) = 6.5 6.5 6.5 6.5 6.5 6.5 6.5 6.6 - F£12[@
30 BEXRGHE (EC) mS/m 17.6 20.6 18.9 16.0 16.9 17.3 16.7 15.9 - F£12[
31 oty R mg/L 4.2 4.9 4.2 3.9 3.6 3.4 3.6 3.6 - F£12[@
32 A4 FF 08 pg-TEQ/L - - - - - = - = 1 £1[E
33 FrUDLLAAY mg/L - - - - - - - - = F1[E
34 AUILAF Y mg/L - - - - - - - - = £1[E
35 AV ILALFY mg/L - - - - - — - — = £1[@
36 RTRIILAAY mg/L - - - - - - — — _ £1m
37 HEEA A mg/L - — — — _ —_ _ _ - 1@
38 FREA 4 mg/L - — - — - - - - - 16

2 % o A & Eid Eid Eid Eid Eid Eid Eid Eid /& . /& -




#3—3H=

HTKODKEHRELE ERBFHN. 2 (FiRMAD )

? E hmzFE B K # R

R = A 48 5 A 68 7R 8H 9 A 108 118 128 18 2H 3R
LAES 7 ER °H 148 ) 28 6R 3| 18 58
E] f ﬁf 3 Eh Bh M Bh Eh £Y BEhn BEh BEENo. 2 (D

E Pl ® 20.6 27.6 22.5 26.8 31.3 27.9 24.3 15.6

K iR © 18.6 19.2 18.5 18.5 19.6 19.1 19.1 18.1
No. # & B B By mEH R BIRHAE 52 B
1 T ILFILIKER mg/L - - - #wHEIhd - = - — ‘’ishiznZ e F£2[@
2 #2KER mg/L - - - 0. 00055 % - - - - 0. 0005 F£2[[
3 HRIIL mg/L - - - 0. 0003k - - - - 0.003 F£2[@
4 £ mg/L - - - 0. 0012k - - - - 0.01 F£2[[
5 Pax(iZ4=PN mg/L - - - 0. 005K - - = - 0.05 F2[F
6 % mg/L - - - 0.001k3% - - - - 0.01 20
7 LTV mg/L - - = #wmHIhT = - = = ‘BEhiznNC e F2[F
8 R)EIEET =)L (PCB) mg/L - - - - - - - - BwHEIhiZn e F1E
9 rysonTFLy mg/L - - - - - - - - 0.01 F£1[E
10 Fhk30RTIFLY mg/L - - - - - - - - 0.01 £1[E
1 soporay mg/L — - — - — — - - 0.02 F£1[E
12 migbikFR mg/L - - - - - - - - 0. 002 £1[E
13 1,2-ynnx4y mg/L - - - - - - - - 0.004 F£1[E
14 1,1-yoRxIFLy mg/L - - - - - - - - 0.1 £1[E
15 1,2-Y9%o0nxTFL>y mg/L - - - - - - - - 0.04 F1[E
16 1,1,1-ryooRxT4 > mg/L - - - - - - - - 1 £1[E
17 1.1,2-r)s00x8 > mg/L - - - - - - - - 0. 006 F£1[E
18 1,3-von7axy mg/L - - - - - - - - 0. 002 £1[E
19 FI5 L mg/L - - - - - - - - 0. 006 F£1[E
20 PS4 mg/L - - - - - - - - 0. 003 £1[E
21 FARUALT mg/L - - - - - - - - 0.02 F£1[E
22 a2 mg/L - — - — - - - - 0.01 £1[@
23 Ly mg/L — - — - — — - - 0.01 F£1[E
24 1,4-OF %% mg/L - - - - - - - - 0.05 £1[E
25 sooTFLy mg/L - - - - - - - - 0. 002 F£1[E
26 HMUEERRUVEHRIEER mg/L - - - 0.44 - — - — 10 F2[@
27 SoFk mg/L - - - 0. 08K - - - - 0.8 F2[E
28 F5% mg/L - - - 0. 1R5% - - - - 1 F£2[E
29 KEAAVRE (pH) = 6.0 6.0 6.0 6.0 6.0 6.0 6.0 6.0 - F£12[@
30 EREHE (EC) mS/m 13.8 15.3 13.5 14.0 13.9 12.0 12.2 12.9 = £12[E
31 oty R G mg/L 5.7 5.8 5.9 5.4 51 5.0 4.9 5.2 - F£12[@
32 BAAFI VR pg-TEQ/L - - - - - = - = 1 £1[E
33 FrUDLLAAY mg/L - - - - - - - - = 1@
34 RPN O mg/L - - - - - - - - = F£1[E
35 ANSI LAt mg/L — - — - — — - — = 1@
36 RTRSILAF Y mg/L - - - - - - - - = F£1[8
37 HEEA A mg/L - - - - - - - - = £10E
38 ERBAAY mg/L — - — — = = - - = £ 1@

g2 ® o & & i3 Eid i3 Eid i3 Eid i3 Eid SR SR SR SR




#E3—2H#=R

RHAKRKODKEZEERLR

fﬁ 3 4 M 2 & & % K % &

R = A 48 5A8 6A 78 8A 9A 108 118 128 18 2R 3R
Bl 8 & m A8 °R 148 ) 28 68 3H 18 5H
E] 3: ﬂf wh wh m h wh 2y Hh wh B

ES b=} c 19.9 19.8 20.8 20.9 22.3 23.3 20.5 21.0

Y R °c 20.5 20.4 22.7 23.8 24.3 25.0 22.2 19.7
No. ® & ®H B B BOE#® R A = E
1 TILEILIKIBIEEY mg/L - - - — — — — — E1@
2 KBRUT LFLKBEOMDOKEBILEY me/L - - - - - - - - E1m
3 N EEHLRUZDEEY mg/L - - - - - - - - F10
4 WRUZOIEEN me/L - - - - _ _ _ _ 1@
5 AHEBILEY mg/L - - - - - — — — £1[@
6 KifiY O LLED mg/L - - - — - — - — #1@
7 BRRVEZDLEY mg/L - - - - - — — — £1[@
8 L7 LAY mg/L - - - — - - - - £1@
9 RUELET =)L (PCB) mg/L - — — — _ — _ _ 1@
10 rysBERTIFLY mg/L — — - — - — — — £1@
I Fh5o00IFLY mg/L - = - = _ — - - 1@
12 DA=1=F 7 mg/L — — - - - - — — £1@
13 gL kR mg/L - - - - - — - — F£1[@
14 1,2-ynnx4y mg/L — — - - - — — — £1@
15 1,1-¥YoaIFLy mg/L - - - — - — — — &1
16 YZR-1,2-Y/nRIFLy mg/L - - — = — — — — £1@
17 1L1L1-fysaRTEY mg/L - — - — - — — — &1
18 1,1,2-+ryoB0x48 > mg/L — — - - - - - — £1@
19 1,3-Yyonraxy mg/L - — - — — — — — £1@
20 FI5 L mg/L - - - - - - - - F£1[@
21 PE mg/L - — - _ _ — _ _ 1@
22 FANVALT mg/L - — — — — — _ _ F£1m
23 Ryty mg/L - — - _ _ — _ _ 1@
2% ELURUZDIEEN mg/L - - - - - - - _ 1@
25 1,4-OH %4> mg/L - - — — — — — _ #1@
26 ESHRRVZDIELED mg/L - - - - — — — — F1m
27 ASOFRRUZDILEY mg/L — - - — — — — — £1@
28| PUVEZT. TUEZVLILEY. ERBLENRUHEEBLEY mg/L - — - - — - — — £1@
29 KEAAVRE (pH) = 7.3 7.6 1.4 1.4 7.0 6.9 6.7 6.7 &0
30 EYILFERBERERE (BOD) mg/L 15 14 4.5 12 6.7 14 15 1 F£12[
31 LFHMIBRRERE (COD) mg/L 43 100 120 110 95 100 100 110 1 2[E
32 FEYEE (SS) mg/L 28 10 8 6 LS 21 LES] 6 £12[E
33 JLINAFYUBMEMESER GGAESHE) mg/L - - - - - — - - #1[
34 JRAAFHUHEMEEER (BEMHESEAR) mg/L - — - - — — — — £1@
35 Jx/—ILEEEE mg/L — - — - - — — — £1[@
36 HEHE mg/L - - - - - - - - F£1[
37 EINEHE mg/L - — - — — - - — 1@
38 ARMEBEEE mg/L - - - — - - — — 1@
39 BRETUHUAER me/L _ _ Z Z - _ _ _ 1m
40 JVOLERE mg/L - - - - - - - — £1@
41 RIEE R /cn® - — - - - - _ _ 1@
42 EREHE mg/L 58 96 120 120 130 130 130 160 F£12[
43 HERE mg/L — - — - - - — — £1[@
44 BEXRIGHE (EC) mS/m 2195 3185 3342 3548 3634 3831 3775 3715 #A8
45 oty R G mg/L 6000 13000 14000 14000 14000 16000 14000 15000 1 2[E
46 PR pe-TEQ/L - - - - - - - - F£1ME
47 FrUSLLEY me/L - - - - - - - - £1@
48 IR E ) me/L - - - - - _ - _ 1@
49 AN ILAAY mg/L - - — — - — — — #1[@
50 RTRIILAT Y mg/L - - - — — — — — £1@
51 BRERA A > mg/L — — — — - — — _ F£1m@
52 BEREBAA mg/L - — - - - — - — £1@

2 ® o #H = #® i = = = S = S /& /i .  f& |XoH, ECITEEBAICLS




#E3—1H=R

RHKDEKDKEEERE

? L hmzFE B K # R

R - A 48 5 A 68 7R 8H 9 A 108 118 128 18 2H 3R
Hlgt o & m 8 °H 148 28 28 6R 3| 18 58
E] f f Eh Eh 3] Eh Eh £Y BEh Eh SOKEKIE

) P! © 20.1 21.0 24.8 29.2 29.9 29.3 26.9 20.

X 2 % 22.9 25.8 28.1 29.3 32.4 32.8 31.3 25.8
No. #® & ® B By mEH R BIRHAE BIE B
1 TILFILKERIEEY mg/L - - = #wHEIhd = - = - ‘’ishiznZ e F2[F
2 KEBRUT IILFILKIBEE DD KERILEY mg/L - - - 0. 00055 i - - - - 0. 005 F£2[@
3 HEIILRUZDIEEY mg/L - - - 0. 003K = - = = 0.03 F2[F
4 HRUVZOLEEY mg/L - — - 0. 015k - - - - 0.1 F2[
5 HRBIEESY mg/L - - - 0. 0055k - - - - 1 F2[
6 I A=PR(2=L) mg/L - - - 0. 045 % - - - - 0.5 £20[H
7 HERVZOIEEY mg/L - - - 0. 015k3% - - - - 0.1 F2[
8 LT e mg/L - — - 0. 1R - — - - 1 F2[
9 HEIEET =)L (PCB) mg/L - - - 0. 00055k i - - - - 0.003 £2[
10 rysBBEIFLY mg/L - - - 0. 0025k - - - - 0.1 2
11 FhSYO00IFLY mg/L - - - 0. 00055k - - - - 0.1 £2[
12 soporay mg/L - - - 0. 025K - - - - 0.2 F£2[[
13 gL kR mg/L - - - 0. 002K = - = = 0.02 F2[
14 1,2->y0nx4y mg/L - - - 0. 004K - - - - 0.04 F2[[
15 1.1->/oaIFLy mg/L - - - 0. 025K - - - - 1 £2[
16 YR-1,2-¥H/naIFLy mg/L - - - 0. 04K - - - - 0.4 F£2[[
17 1.1,1-fysonTEY mg/L - - - 0. 00055k 5 - - - - 3 £2[
18 1,1,2-kysaRIEY mg/L - - - 0. 006K - - - - 0.06 2
19 1.3-smnrfaxy mg/L - - - 0. 0025 - - - - 0.02 £2[8
20 Fo5 L mg/L - - - 0. 006K - - - - 0.06 2
21 DAV mg/L - - - 0. 0033 - - - - 0.03 £2[8
22 FARDANLT mg/L - - - 0. 025k % - - - - 0.2 2
23 A2 % mg/L - - - 0. 01K = - - = 0.1 F2[F
24 LU RUZDEEND mg/L - - - 0. 0153 - - - - 0.1 £20H
25 1,4-SH %9y mg/L - - - 0. 055K - - - - 0.5 F2[F
26 ESHRRVZDIEEY mg/L - - - 1.1 - - - - 50 F2[
27 SORRUVEDLEY mg/L = - - 0. 5K - - - - 15 F2[E
28| PUVEZT. TUEZVLILEY. ERBLENRUVHEEBLEY mg/L - - - 0.15 - - - - 200 F£2[H
29 KFEA L VRE (pH) - 6.6 6.8 6.9 7.0 6.9 6.9 6.8 7.0 5.8-8.6 (=1=)
30 EMIEFRBRERE (BOD) mg/L 1.0 0.9 0. 55ki#% 0.5 0.7 0.8 0.9 0.9 60 £120@
31 {eRBRERE (COD) mg/L 0.8 1.1 1.4 0.7 1.6 2.0 1.0 1.6 90 £120@
32 BEMER (SS) mg/L 55k 55k 55k 55k 55k 55k 55kiE 5% 60 £120@
33 JURAAFZHUMEYEESEE GRESER) mg/L - - - 2. 5K - - - - 5) F£2[@
34 JURUAZY UREMEEER (MiEREEEER) mg/L - - - 2. 55k - - - - 30 F2[
35 Jx/—LEERE mg/L = - = 0. 01K - - - - 5 F2[E
36 HEHE mg/L - - - 0. 015k3% - - - - 3 F2[
37 ERESHE mg/L - - - 0.02 - - - - 2 £2[
38 BRUEBEHE mg/L - - - 0. 055k % - - - - 10 F2[
39 BRUETVHVERR mg/L = - - 0. 01K - - - - 10 F2[E
40 PA=PN-L o5 mg/L - - - 0. 045ki% - - - - 2 F2[
4 RIEE R 1&/cm’ 0 1 0 0 0 0 0 0 3000 £120@
42 EREHR mg/L 0.30 0.36 0.36 0.29 0.45 0.48 0.28 0.44 120 £120@
43 BERE mg/L 0.04 0.05 0.04 0.04 0.04 0.03 0.04 0.03 16 £120@
44 BREHE (EC) mS/m 85 8 75 65 67 65 il 78 = [=1E)
45 BiemA A mg/L 47 62 47 36 61 58 50 50 = £120@
46 AN LAFY mg/L 12 13 13 9.4 13 9.2 11 1 = £120@
47 FAF¥L U8 pe-TEQ/L — — — 0. 00099 — — - — 10 #£2[

R ¥ 0 A & 3 = = = 3 = = = s / s / XpH, ECIEHEFHLAIC & 5




